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A United Method for Findng Greatest Common Divisor and
Least Common Multiple in a Euclidean Domain

CHEN Lingxiang TAN Yijia

( College of Mathematics and Computer Science Fuzhou University Fuzhou 350108 China)

Abstract: The greatest common divisor and the least common multiple of a finite set of elements in a Euclidean
domain were studied in this paper. With the elementary transformations on matrices a unified method for find—
ing the greatest common divisor and the least common multiple of a finite set of elements in a Euclidean do-
main was obtained.
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